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Warm-up!

What is your favorite color?

Option C: Yellow

Predict the Output

Predict the output

((repeated bf 3) "(cat dog hat bat)) =

Option C:  bat

[“Option D: J(bat)

Predict the output

Predict the output

((repeated bf 3) "(cat dog hat bat)) = (cons Q) (list Q) (cons “O “0O))) >

< butfirst of a sentence ALWAYS

* Never quote the output of scheme!
bat = (repeated bFf 3) returns a ( 00 O)
Option C: bat sentence. OptionC: ¢ O O O O )

procedure that takes a word or a
IR COR G [Gsiwinlc 0 O © O))




Predict the output

(cons () (dist “() (cons “O "0 > ____

[osienei] ¢ 0 0 (O ><mmmm

OptionC: C O O O O )
* Review what cons,

[optionD: [ O O (O O) ) |_append and list do...

Predict the output

(empty? Q) &> ____

Option B: |#t ;; True

Option C: #f ;; False

no idea!

Predict the output

(empty? “Q) > __

[Gpton e Je :: True (D

Option C: #f ;; False

* empty? returns true
for empty sentences
and words

« Don't use it with lists!

Predict the output

(empty? “7) >

. OptionB: |#t ;; True

OptionC: #f ;; False

no idea!

Predict the output

(empty? “7) =

[optione |+t :: True <{EE

Option C: #f ;; False

= empty? returns true
i for empty sentences
and words

_no idea!

» Don't use it with lists!

Predict the output

(ull? “*) »
:’1’ Error

Option C: #f ;; False

no ideal!




Predict the output

(null? “7) =

i e nul1? returns true for

Error i
i+ Don'tuse it with

=

words and sentences!
OptionC: #F ;; False _

no ideal!

Predict the output

(null? (cons “” <)) >

* An empty word i
i counts as something i

. inside the list. So—
m]#t ;5 True ¢ itisnotnull?

Option C:  #F ;; False-

tc)‘mm'-‘ll‘ no ideal!

Predict the output

(nul1? (cons “” <)) 2>

Option B: |#t ;; True

Option C: #f ;; False

no idea!

Predict the output

(assoc “x “((@1) (b2) x3) x4 >

onB: | 3

OptionC:  (x 3)

[OptionB: ] (x )

Predict the output

(assoc “x “((@ 1) (b2) x3) x4) >

Error = assoc just returns
IM] the first match. ;
3

« Returns the entire |

onionc: ¢ T BRIl
Comand:]ox

Predict the output

(member “x “(abcdxe fg)) >

o
A Error

E

#t ;; True

Option C: #f ;; False

_Iﬁ: something else




Predict the output

(member “x “(abcdxe fg)) >
e Returns: (x e f @)
= member returns the rest of the

sentence starting with the thing
#t ;; True you were looking for. Itis a

semi-predicate
OptionC: #F ;5 False . jnember? returns just #t or #f

something else _

=

Predict the output

(member? “x “(abcdxe fg)) D>

Option B: |#t ;; True

Option C: #f ;; False

something else

Predict the output

(member? “x “(abcdxe fg)) >

[ Cption: | e :: True <

= member returns the rest of
the sentence starting with the
thing you were looking for. It

t.m A .‘ something else: o a semi-predicate
= member? returns just #t or
#f

Option C: #f ;; False

Predict the output

(member? “x “(abcd ) e fg) >

OptionC: #f ;; False

something else

Predict the output

(member? “x “(abcd ) e fg)) 2>

= member doesn’t look inside
of sublists

Option C:  #F ;; False_
_}something else

Predict the output

(cons 1 2) &>
Z Error

[“option8: | (1 2)

OptionC: (1 . 2)

_Iﬁ: something else




Predict the output

« The second argument to cons
(cons 12) > __ should be a list otherwise you end
up with this weird dot.
Error « Remember cons pulls out the
e “underwear” of the second
argument and drops the first
a2 argument in.

optionC: (1 . 2)_

something else

Predict the output

(map cons 1 “(2)) =

e . 2>

OptionC: (1 . 2)

[ Option D: | (1 2))

Predict the output

(map cons 1 “(2)) =2

m} @ 2) « Map takes in a procedure and one

or more LISTS!

« There should be the same number

of lists as there are arguments
1 2)» that the procedure takes in!

OptionC: (1 . 2)

Predict the output

(map cons “(1) “(2)) &

oene] ¢ 2

OptionC: (1 . 2)

[“Option &: | (2 2))

Predict the output

(map cons “(1) “(2)) >

[ Option A | Error
| Option B: | (1 2)

OptionC: (1 . 2)

» Map takes the car of each list and
calls the procedure cons with
them. i.e. (cons 1 2) itdoes
that for each element in the lists
and puts the result in a list!

[osiente] : - 2))

Fill in the blank

> (@2 AB)

(map cons “(1 A) “((2) B
(map cons (1) (A) (@ B)Y)

OptionC: (map cons “(1 A) “(2 B))

_IE: something else




Fill in the blank

2> @2 By

. (map_cons._“(1 A). ((2).(BN) -

ie (list (cons 1 “(2)) (cons A “(B)))
OEtlon B: |(map cons “((1) (A)) “((2) (B)))
i (list (cons (1) “(2)) (cons “(A) “(B))) i
OptionC: (map cons “(1 A) “(2 B)) '
ie (list (cons 1 2) (cons A B))

something else

Predict the output

Gx>> « = only works with numbers! For

words/sentences use equal?

Option C: #f ;; False

something else

Predict the output

(11) >

* Numbers are words!

. « The quote is implicit

Error on numbers
[Gption: |t :: True <{ummm

Option C: #f ;; False

_ something else

Predict the output

Option B: |#t ;; True

Option C: #f ;; False

something else

Predict the output

(=11) >

onB: |#t ;; True

OptionC: #f ;; False

something else

Predict the output

(every first “awesome) =

Option C: awesome

_IE:(a wesome)




Predict the output

(every first “awesome) =

« Every retums a
a sentence even if it is
given a word!

Option C:  awesome

(awesome)_

1 (define (depth Ist)

2 (if (not (list? Ist))

3 0

4 (max (map (+ depth 1) Ist))))
[C9etionE=T 0

OptionC: 1

_’EE something else

(depth 1234567)=>

e (depth Ist)

(if (not (list? Ist))

3 0

4 (max (map (+ depth 1) Ist))))

[Cowtons: ] o <G

OptionC: 1

m something else

(depth 1234567)

(define (depth Ist)
(if (not (list? Ist))
0
(max (map (+ depth 1) Ist))))

| Option A: |Error

nB: 0

A WN P

OptionC: 1

something else
(depth “((@(®N>

OptionC: 1

something else
(depth “((@(M)))H>»

1 (define (depth Ist)

2 (if (not (list? Ist))

3 0

4 (max (map (+ depth 1) Ist))))
[option A 1
Option & |2

OptionC: 3

opiond: 4

Which line has an error?




e (depth Ist)

(if (not (list? Ist))

0

(max (map (+ depth 1) Ist))))

1

opions: |2

OptionC: 3

[opiond: |+ <

Which line has an error?

IM
|

(define (depth Ist)
(if (not (list? Ist))
0
(max (map (+ depth 1) Ist))))

A WN P

Correct the error!

Py

(define (depth Ist)
(f (not (list? Ist))
0
(max (map (+ depth 1) Ist))))

A WOWODNPR

New line 4:
(+ 1 (reduce max (map depth Ist)))

List or Sentence?

Would you use this
with Lists or Sentences?
item
ption B sentences

Option C: neither

ould you use this
with Lists or Sentences?

item

lists

B: |sentences _

Option C: neither

1

e list-ref for lists

ﬁ

both « item for sentences/words




Would you use this
with Lists or Sentences?

assoc

sentences

Option C:  neither

ould you use this
with Lists or Sentences?

asSsocC

[Gpiana] 1ists <
Option B: |sentences

Option C: neither

i Assoc lists are LISTS

Would you use this
with Lists or Sentences?
first
m]sentences

Option C: neither

ould you use this
with Lists or Sentences?
first

Option C: neither

both = car for lists

= first for sentences/words

Would you use this
with Lists or Sentences?

reduce
IM] sentences

Option C:  neither

ould you use this
with Lists or Sentences?

reduce

[GsionAT] 1ists <(mmmm

O

Option C: neither

both « reduce for lists

= accumulate for sentences/words :




Would you use this
with Lists or Sentences?
map
sentences

Option C:  neither

ould you use this
with Lists or Sentences?

map

[omtiona Jnists <
Option B: |sentences

Option C: neither

= map for lists (and it is way cooler
both than every!)

= every for sentences/words

Would you use this
with Lists or Sentences?
filter
@sentenceg

Option C: neither

ould you use this
with Lists or Sentences?

filter

Option C: neither

both = Filter forlists

= keep for sentences/words

10



